HIIRERDOL <

L=l
@

BAGRT+TFEHEERFEADOFTHRIT. HEl LDEEHE
E (BENEER) 2R3N TEET,

R EOE TR R, ZELBDOREDIEDICE D
LTCHFMWEREITE T,

BHNEER-TH? 2

ZERR=2ZL51<

D2ED. —EDFMNEZZIh>fL
S AMINBHMENLL BB VD
CETY,

MEBEIRCFRFER

KEANDFMEIF.
MRERIERR) & TSR]
EBEHHFEIRVICLEITET,

BEER->T? 2

. - () HH£5HM
(FHE&£5:5t%E (A)—2,000H) x40%=1#%xpr%E (B) (50,000—2,000) x40%
: =19,200/
(A)ISERIMFIEEEEDA0%H REZETY,
(B)IZFRBFi D 25% W RELET T, 19,200MH FR15HE
h SRR

FRiG#EE->T? ?
(FtE£ 5518 (C)—2,000M) xFris#i=x (D)=

(C)IZFERFAISEEFDI0%H REETI,
DI FEEDFEEFEICE > TEAD T T,

EE55hER/??

— AR RO AR T LD,
HERFZERR | |

:

]
<>
]

FIBEEEICK > TERDEITDT,
BHMROFEWVWAEZERL TSIV,

FLARBREESOHREEIC




